HG | HINGES

Issue Date: 11/07/2017

| i

MT ModTruss.




463 Cedar St. | Fond du Lac, WI « 54935 « USA | 1.844.663.8787 | www.ModTruss.com




Part Number:

MT-HG-S-06-06-06

Issue Date: 08/29/2017

6" 1800 Hinge Half Ser/es:H/nges

Part Number: MT-HG-S-06-06-06

Standard Material:  A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size:  5.88"x 5" x 4" (149.35mm x 127.0mm x 101.6mm)
Weight:  6.50lbs (2.95kg)
Hole Size:  11/16” (17.46mm), 1.03" (26.16mm)

Recommended Hardware:  5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18x 2 Thread, Class 10.9 Nut)

Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products:  MT-M-AXL-WHL-06 | MT-HG-S-P-06 | MT-HG-S-06-06-06 | MT-PL-W-06

See more at:  ModTruss.com

‘ ModTruss..c

& ©® O

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

=
<
O
<
O
<
v
O
=
f—
=

o
N
N
S
<
S
5}
L
<
Q
L
>
]

Series: Hinges

?0-90-90-S-OH-IW

HABANM L8Yd

41VH 3ONIH <081 .9

INCUJIDEI0

N INDEIAZE _ 210219201

WA NI 38 Seoisngeed [ 13a0ves ..._u?- mm:-hﬁoz IE

la5 1] 90rF - Q3w 2 BATT HOISDAE
0osel]
00's
L [ ]

919z]
oL

e e

L] ]
[09 101]
00y
se9l || osel] |
ST 0s’
[0z9/] soel
_ T 00'€ [,.A T
[ov'sz] / — G.W A\
00'1
424 L [9vzn]
00°€ 69" 0
\C — -

NSSNALPOA @

U.S. Patent No. 8,418,425 & other patents pending



6” 180° Hinge Hitch Pin

Part Number: MT-HG-S-HP-06

Part Number:

MT-HG-S-HP-06

Issue Date: 10/31/2017

Series: Hinges

Standard Material:
Standard Finish:
Available Finish(es):
Size:

Weight:

Hole Size:

Recommended Hardware:
Recommended Tools:
Associated Products:

See more at:

A36 Low Carbon Steel

10 - Zinc Clear

10-12

3" x8.25" x 1" (76.2mm x 209.55mm x 25.4mm)
2.20Ibs (1.0kg)

0.26" (6.50mm)

Cotter Pin

Rubber Mallet

MT-HG-06-06-06

ModTruss.com

& ©

In Stock Reusable

U.S. Patent No. 8,418,425 & other patents pending

WT ModTruss..



Part Number:

O
i
o.
"
s
O
-
-
=

~N
S
]
3
S
S
=
g
<
[=)
3
g

Series: Hinges

90-dH-S-OH-IW

*43GWNN Lavd

NId HOLIH 3ONIH -081.9

‘NOILdI¥OS3a

AN NOISIATY _ £10z/L2/1 a3V

WW NI 33V SNOISNIWIQ [ ] 13¥0v a8 Eu,_z_ mm :.h._l_un_ —_)__ a@

[087 €0'F - QIW : TIAITNOISIDI¥d

[cl6vL]

VAR

[ov'sT]
00°'L @

[059]
9C @

[65°60C]

g8

NSSNALPOA .E

U.S. Patent No. 8,418,425 & other patents pending



6” 180° Hinge Half Pivot Pin

Part Number: MT-HG-S-P-06

Part Number:

MT-HG-S-P-06

Issue Date: 10/11/2017

Series: Hinges

Standard Material:
Standard Finish:
Available Finish(es):

Size:

Weight:

Hole Size:

Recommended Hardware:
Recommended Tools:
Associated Products:

See more at:

A36 Low Carbon Steel

10 - Zinc Clear

10-12

6.5"x 1”x0.25" (165.1mm x 25.4mm x 6.35mm)
1.35Ibs (0.61kg)

0.25" (6.35mm)

Roll Pin

ModTruss™ Tool Kit 1 | Ball Peen Hammer
MT-HG-S-06-06-06

ModTruss.com

& 0

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable

U.S. Patent No. 8,418,425 & other patents pending

Compatible

Serialized & Traceable

WT ModTruss..



Part Number:

O
<
e
s
O
=
-
=

~N
3
N
~
X
S
S
%
&
<
Q
g
2

Series: Hinges

90-d-S-OH-IW

“AIGWAN L3V

NId 3ONIH AdVANVIS .9

NOILdI¥OS3a

AN INOISIAZY 7 £102/v2/8

WW NI 33Y SNOISNIWIA [ ] 1330vae
16511 90°F - GIN : 13AFTNOISIDId

NSSNALPOIA ,@

TIV NYHL [SE9]ST @ X9

O

00l
]

059

[1s91]

NSSNALPOA E

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

MT-HG-5-06-06-06-AS

Issue Date: 08/29/2017

6" 180° Hinge Assembly vere:inges

Part Number: MT-HG-$-06-06-06-AS
Some assembly required

Components Included

Qty. 2 - MT-HG-5-06-06-06

Qty. 1- MT-HG-S-P-06

Qty. 6 - MT-HW-P-RP-0200-0016-0109

Standard Material:  A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12
Size: 6" x6"x6"(152.4mm x 152.4mm x 152.4mm)
Weight:  14.50lbs (6.58kg)
Hole Size:  11/16" (17.46mm)

Recommended Hardware: 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8” SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools: ModTruss™ Tool Kit 1 | Ball Peen Hammer
Associated Products: MT-PL-W-06
See more at:  ModTruss.com

WT ModTruss..

& 0

In Stock Reusable Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



SV-90-90-90-S-OH-IW
ATGWISSY JONIH o081

“IEWAN L3V

‘NOILJI¥OS3a

xzuzozai /102/52/8 ) ﬁONORQ
WW NI 3V SNOISNIWIC [ ] 13¥0vae ..uEmm:-hnF_UGE B Oom
[65°1] 90°F - G3W  13A3TNOISIDI¥d = — — % —

009

(ovzst] ;%1 ) S s
T

[01's91]
05°9

NId 1104 . 9 | 6010-9100-00C0-dd-d-MH-IW| ¢

NId IONIH Q¥VaNVLS.9 | | 90-d-SOHIW| ¢

.9 %,9 X,9 “IONIH z 90-90-90-5-OH-IW| 1
NOILdI¥D$3a ALD JIGWNN Lavd ol

U.S. Patent No. 8,418,425 & other patents pending

NSSNALPOA .m.w

(7]
<
O
<
O
<
O
<
w
(&)
-
[
=

Issue Date: 08/29/2017
Series: Hinges

._I,
S
=
S
=
=
5
<




Part Number:

MT-HG-S-12-12-12-AS

Issue Date: 08/29/2017

12" 180° Hinge Assembly vere:inges

Part Number: MT-HG-S-12-12-12-AS
Some assembly required

Components Included

Qty. 2- MT-HG-S-12-12-12

Qty. 1- MT-HG-S-P-12

Qty. 6 - MT-HW-P-RP-0200-0016-0109

Standard Material:  A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size: 12" x12"x 12" (304.80mm x 304.80mm x 304.80mm)
Weight:  65.10lbs (29.53kg)
Hole Size:  11/16” (17.46mm)

Recommended Hardware: 5/8"-11 Thread Grade 8 Bolt, 2 1/2" Long | 5/8” SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 64mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18 x 2 Thread, Class 10.9 Nut)

T ModTruss.

W

4

Recommended Tools: ModTruss™ Tool Kit 1 | Ball Peen Hammer
Associated Products:  MT-PL-W-12

See more at:  ModTruss.com

& 0

In Stock Reusable Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



._I,
S
=
S
=
=
5
<

(7]
<
o
i
(o]
i
o
S
s
(&)
-
[
=

Issue Date: 08/29/2017

Series: Hinges

SV-CL-CL-CL-S-OH-IW

“4IAWAN L3V

ATAWASSY IONIH .CL

‘NOILJI¥OS3a

AN NOISIARY i £102/52/8

WW NI 33V SNOISNIWIQ [] 1350V
[65°1] 90°F - G3W : 1IATTNOISID3dd

ISSNILPOIA" hE

—

[00v°6.2]

| |
7 00 L1 7
[ J

NN

O

OR®

O

OR®

O

00l
[008'10€]

ud 1108 .2 9 | 6010-9100-0020-dd-d-MH-IW| €
olD N
‘NId 3ONIH ddvanvis| | 70 CLTlel-S ORI ¢
QIVANVLS e
ZLUIAVHIONH | © CLTLTLISOHIW L
NOILdINO$3a “ALD YIIWNN L3vd o

[008+0€]

|
7 00l
[

11T

009
6v°CS1]

v

W IO () Io (=) Im:
] N =
&4 M
[0St L1g] =
- N |5
O O O O &
O O 0 O =
O O O Q)
O O O @)
O O 0 O
O @ O O
N J

NSSNALPOA .m.w



Part Number:

MT-HG-5-12-12-12

Issue Date: 08/29/2017

12" 180° Hinge Half seres: inges

Part Number: MT-HG-S-12-12-12

Standard Material:  A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size:  7.5"x 12" x 11" (190.50mm x 304.80mm x 279.40mm)
Weight:  30.501bs (13.83kg)
Hole Size:  11/16" (17.46mm), 1" (25.40mm)

Recommended Hardware:  5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18 x 2 Thread, Class 10.9 Nut)

Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products: MT-HG-S-P-12 | MT-HG-S-HP-12
See more at:  ModTruss.com

WT ModTruss..

& © O

In Stock Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



CLCL-CI-SOHIW

AN 1l |

4TVH JONIH 081 .C 1

NOUIHIEI |

HNCMOIEAZE | S 10Z/LTAL

wzeamslsze VSSMALPON ’

[ovecz]
oo'tt

(o8 v0E] -
I 00zl
_

N\ o L)L 1
O O Y =

8.( [ozzt]
05’

[orsz] [ov21] [oz'92] ..A.\_m,oﬂ,.

ot &\ Toooe |l

oz [T O B Oo—H i

00e

[sv141]
SL9

[s¥121]
519

(]
“r
(]
“r
o~
“
s
O
=
-
=

=
N
N
S
3
S
Py
=
S
Q
<
S
2

Part Number:
Series: Hinges

SSNALPOI Kl

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

MT-HG-S-P-12

Issue Date: 10/11/2017

12" 180° Hinge Half Pivot Pin Jeres: Hnges

Part Number: MT-HG-S-P-12

Standard Material:  A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size:  12.25"x 1" x0.25" (311.15mm x 25.40mm x 6.35mm)
Weight:  2.65Ibs (1.20kg)
Hole Size:  0.25" (6.35mm)
Recommended Hardware: Roll Pin

WT ModTruss..

Recommended Tools: ModTruss™ Tool Kit 1 | Ball Peen Hammer
Associated Products: MT-HG-5-12-12-12
See more at:  ModTruss.com

& 0

In Stock Reusable

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

o~
3
e
s
O
-
-
=

~
=
N
=
S
S
-
<
s
Q
3
]

Series: Hinges

Cl-d-S-OH-IW AIEWNN 13V

NId 3ONIH o081 .1

‘NOILdI¥OS3a

AN NOISIAIY _ S10z/S1/S :aasvanay

WW NI 38V SNOISNIWIA [ ] 13¥0v a8
[08] €0'F - QIW : T3AI1NOISIDIYd

MSSNALPOIA g

[Ge9]

ST P

O

b

SLiLe]

Geel

NSSNALPOA .E

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

MT-HG-S-HP-12

Issue Date: 10/11/2017

12" 180° Hinge Hitch Pin vere:inges

Part Number: MT-HG-S-HP-12

Standard Material:  A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size:  3"x14.25"x 1" (76.2mm x 361.95mm x 25.4mm)
Weight:  3.60Ibs (1.63kg)
Hole Size:  0.26” (6.50mm)
Recommended Hardware: Cotter Pin

WT ModTruss..

Recommended Tools: Rubber Mallet
Associated Products:  MT-HG-12-12-12

See more at:  ModTruss.com

& 0

In Stock Reusable

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

o~
3
o.
"
s
O
-
-
=

~
=
N
=
S
=
)
<
s
Q
3
]

Cl-dH-S-OH-IW

43GWON 1dVd

NId HOLIH 3ONIH o081.¢1

‘NOILdI¥OS3a

o £102/§2/2

=
WW NI ¥V SNOISNIWIQ [] 13¥0vag | /:mmzthDDE

[65°1] 90F - A3W : 1IAFTNOISIDINd

o

SLLLe]

rad

ov'sz]
0L

1059
740

66°19¢]

radl

Series: Hinges

NSSNALPOA h.w

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

MT-HG-F-06-06-12

Issue Date: 08/29/2017

. . Series: Hinges
6" Flush Hinge

Part Number: MT-HG-F-06-06-12

Standard Material:  A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size:  6.5”x 6" x2.5” (165.10mm x 152.40mm x 63.50mm)
Weight:  8.35Ibs (3.79kg)
Hole Size:  11/16" (17.46mm)

Recommended Hardware:  5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18 x 2 Thread, Class 10.9 Nut)

WT ModTruss..

Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products:  MT-PL-W-06
See more at:  ModTruss.com

& 0

Electrical Hazard In Stock Reusable Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

o~
N
O
<
=4
<
Hr
(&)
-
-
=

~
o
N
X
N
S
S
U
g
I
I
3
]

Series: Hinges

C1-90-90-4-OH-IW

AWM L8V

JONIH HSN4 .9

NOUHDET

anoEadd | 7 |0Z/6T/ |

wmeenellaee | NVSSNALPOIN D

d3aso1O 3ONH

[orsot]
059

@) [0s€9]

0s'¢

‘. oze]). .A. - [oves]

| 7, \
SONIN ONINIVITY HLIM
L4WHS Q311078 .2/ 1

N3IdO FONIH

[osvog] |

00clL

IIT 1

e
lovel]
690\ i
3 i T
\ — I — lo1's]
O ||l O O—+t7
1 1 a
[orest] l— LT | [0g9s]
00'9 _H_”_ 00'e
[ I 11 ] R
[ j : I —
g e

NSSNALPOA @

U.S. Patent No. 8,418,425 & other patents pending



Part Number:

MT-HG-F-12-12-24

Issue Date: 08/29/2017

12" Flush Hinge e

Part Number: MT-HG-F-12-12-24

Standard Material:  A36 Low Carbon Steel
Standard Finish: 10 - Zinc Clear
Available Finish(es): 10-12, 20-32
Size:  12.5"x12"x2.5" (317.50mm x 304.80mm X 63.50mm)
Weight:  27.40lbs (12.43kg)
Hole Size:  11/16” (17.46mm)

Recommended Hardware:  5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
(M18 x 2 Thread, 50mm Long, Class 10.9 Bolt | M18, Class 10.9 Washer | M18x 2 Thread, Class 10.9 Nut)

Recommended Tools:  ModTruss™ Tool Kit 1
Associated Products:  MT-PL-W-12
See more at:  ModTruss.com

WT ModTruss..

@ & © O

Electrical Hazard Flammability In Stock Made To Order Customizable Reusable Compatible Serialized & Traceable

U.S. Patent No. 8,418,425 & other patents pending



¥eel-Cl-4-OHIW

SHFININ LV

NOUAMDEI0

FEXZLX 2L TATIWASSY JONIH

im0z Lloziszi

WA K 3wy SNOmEIWa | ] 30w | UZ_mmshl—-Uoz '

[45° 1] £90°F - 03w AT NOISID3Ed

SdMD ONINIVATE Hm |
14vHS 03015 .21

L [os21€] 09605 _
05Z1 .._ _ + _8,_&_ :
@ _ ol s 1 N @ 7 -
= ™ 05T Yo — &
T 8
Sl
o fsved ovee] ,_ _, [oz9s il [orge]
529 051 00'€ LAY 051
] — — i
o|l o o |o o o0 o oflo b o o !
O CG——F—7 @) @) O O [0z'9¢]
— : — 00
O O O O ) O O O O m O O O G T
[s¥11 08'70€] = == —
59 oozl = I =
@] @] O @] @] O O @] @] O @] 0]
o o ! o o [ o o
O O O @] O O O O O O O O
1 = = -

U.S. Patent No. 8,418,425 & other patents pending

NSSNALPOA @

<
o
o~
“r
o~
-—
o
(&)
-
-
=

~
=
N
X
N
S
S
=
g
<
I
3
]

Part Number:
Series: Hinges




